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Directions (1-9): Read the following passage and answer the questions given below. Some words are
highlighted to help you answer some of the questions.

Qualitative research contributes to the literature in many disciplines by describing, interpreting, and
generating theories about social interactions and individual experiences as they occur in natural, rather
than experimental, situations. Some recent examples include studies of professional dilemmas, medical
students’ early experiences of workplace learning, patients’ experiences of disease and interventions, and
patients’ perspectives about incident disclosures. Its major goal is to 1)) a better
understanding of people's or groups' viewpoints and experiences, as well as the situations in which they
occur. Qualitative research is increasingly common and valued in the medical and medical education
literature. However, the quality of such research can be difficult to evaluate because of incomplete
reporting of key elements. Quality is multifaceted and includes consideration of the importance of the
research question, the rigor of the research methods, the appropriateness and salience of the inferences,
and the clarity and completeness of reporting. The purpose of research oversight is to defend research
participants and guarantee that research is conducted appropriately.

Although there is much debate about standards for methodological rigor in qualitative research, there is
widespread agreement about the need for clear and complete reporting. Optimal reporting would enable
editors, reviewers, other researchers, and practitioners to critically appraise qualitative studies and apply
and synthesize the results. One important step in improving the quality of reporting is to formulate and
define clear reporting standards. Authors have proposed guidelines for the quality of qualitative
research, including those in the fields of medical education, clinical and health services research, and
general education research. Standards for reporting exist for many types of quantitative research, but
currently, none exist for the broad spectrum of qualitative research. The purpose of the present study is
to formulate and define standards for reporting qualitative research while preserving the requisite
flexibility to accommodate various paradigms, approaches, and methods. By establishing explicit
reporting criteria for qualitative research, the clear interpretation of thoughts strives to promote
transparency in all aspects of qualitative research.

BILINGUAL

Q1. Why is it difficult to judge the attributes of qualitative research,
despite the fact that it is highly regarded in medical education? Video Solutions

(a) Because a number of authors have proposed guidelines for
qualitative research effectiveness. B AN K
(b) Because there's a lack of agreement about what constitutes the

efficacy of qualitative research. P R I M E

(c) Because significant elements included in the traits of qualitative

research are not fully stated. m

(d) Because qualitative research generates new hypotheses
. . . . RBI, LIC, IBPS RRB, SBI, IBPS PO | Clerk & Others
regarding contribution to the literature.

(e) All of these 1200+ TOTAL TESTS
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Q2. How may researchers benefit from optimal reporting?

(a) Researchers can propose helpful guidelines with the help of optimal reporting.
(b) Researchers can evaluate qualitative studies with the help of optimal reporting.
(c) Researchers can use and consolidate the outcomes with optimal reporting.

(d) Only (b) and (c)

(e) Only (a) and (c)

Q3. What is/are the benefit(s) of having precise reporting requirements for qualitative research?
(a) It intends to make qualitative research more transparent.

(b) It helps to establish a coherent interpretation of thoughts.

(c) It aids in the development of various social experiences.

(d) All of these

(e) Only (a) and (b)

Q4. What is/are the author's key objective(s) behind providing a qualitative research study?
(a) To develop reporting guidelines for qualitative research.

(b) To maintain the necessary flexibility to meet different approaches.

(c) To provide regulatory standards for qualitative research.

(d) Only (b) and (c)

(e) All of these

Q5. Choose the most appropriate synonym of the word ‘OVERSIGHT’, as highlighted in the given passage.
(a) contradict

(b) surveillance

(c) contumacy

(d) obstacle

(e) accession

Q6. Choose the most appropriate word from the following options to fill in the blank (I), as highlighted in
the given passage.

(a) implicate

(b) tangle

(c) embroil

(d) extract

(e) inculpate

Q7. Choose the most appropriate synonym of the word ‘FORMULATE’, as highlighted in the given
passage.

(a) conceive

(b) articulate

(c) construct

(d) contrive

(e) All of these
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Q8. Which of the following statements is/are correct based on the information provided?

(i) It is helpful to improve the quality of reporting by devising and outlining precise reporting criteria.
(i) Many kinds of quantitative research for mitigating climate change have reporting standards.

(iii) Several authors have provided guidelines for improving the quality of medical education research.
() Only (i) and (iii)

(b) None of these

(c) Only (ii)

(d) All of these

(e) Only (i) and (ii)

Q9. What contribution does qualitative research make to the literature in a variety of fields?
(a) It aids in the interpretation of social engagement models.

(b) It improves comprehension of individual experiences as they occur.

(c) It assists in the development of social communication frameworks.

(d) It facilitates the description of social interaction theories.

(e) All of these

Directions (10-11): In each question a word is given, corresponding to it three sentences are given.
Choose the correct sentence that has the correct usage of the word.

Q10. Issue

(A) Tolkien, in his history of the elves, would not wish to go against what he accepted as issue universally
true

(B) If you find an issue with no obstacles, it probably doesn’t lead anywhere.

(C) She addressed few issues concerning the environment.

(a) Only (A)

(b) Only (B)

(c) Only (C)

(d) Only (A) and (B)

(e) Only (B) and (C)

Q11. Callous

(A) The bishop criticized the government for its callous, uncaring attitude to the homeless and the
unemployed.

(B) There was a callous of interests and opinions.

(C) He had worked in the hospital for so many years that he was callous to the suffering in the wards.

(a) Only (A)

(b) Only (B)

(c) Only ()

(d) Only (A), (B) and (C)

(e) Only (A) and (C)
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Directions (12-16): In each question, a word is omitted. Choose the correct word from the given options
that can fill the given blank by making the sentence grammatically and contextually correct.

Q12. Please return the completed form at your earliest

(a) dimension
(b) convenience
(c) method

(d) abasement

(e) passage

Q13. As soon as the judge heard the details of the lawsuit, he dismissed the case.

(a) frivolous
(b) obtuse

(c) jovial

(d) insomniac
(e) perceptible

Q14. John’s business , along with his computer skills, made him an asset to the software

company.
(a) acumen
(b) relaxion
(c) compel
(d) cue

(e) fanatic

Q15. It was not that Inter ministerial Councils played a particularly prominent role

in the formulation of economic and financial policy.

(a) strident

(b) perennial

(c) coincidental gilingual

(d) whirl NRA CET Ready

(e) interrogative

Q16. Her new detective series will be her BA N K

the small screen.

(2) guise MAHA PACK

(b) lucid

(c) preview Live Classes, Video Courses,
(d) divulge Test Series, eBooks

(e) debut
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Directions (17-21): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper
sequence to form a paragraph; then answer the questions given below them

(A) As he was unable to repay the money, the man poured paint over his painting, which he was taking to
an art exhibition

(B) This story runs through generations as the moral “all that happens, happens for good”.

(C) Once, there was a girl named Claude Morisse. She and her father, a painter, had booked a voyage to
Barcelona, so that they could start a new life there, leaving their old life in Florida.

(D) This angered the father and he decided to not go for the voyage as he had no money left to sustain any
life there.

(E) Two days before the journey, the father happened to come across his old business ally from whom he
had taken a $300 loan.

(F) But, the news of drowning of same cruise with 800 passengers onboard came after few days, leaving
Claude Morisse and her father stunned and they thanked their luck for escaping that unfortunate event.

Q17. Which of the following will be the third statement after rearrangement?
(a) B
(b)A
(0D
(d)E
(e)C

Q18. Which of the following will be the first statement after rearrangement?
(a)B
(b)A
(0D
(d)E
(e)C

Q19. Which of the following will be the fourth statement after rearrangement?
(@)B
(b) A
()b
(d) E
(e)C

Q20. Which of the following will be the second statement after rearrangement?
(@)B
(b) A
(D
(d)E
(e)C
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Q21. Which of the following will be the last statement after rearrangement?
(a)B
(b) A
(0D
(d)E
(e)C

Directions (22-25): Given below are four sentences, out of which one sentence is grammatically
incorrect. Choose the option which points out the grammatically incorrect sentence. If all sentences are
correct. Choose ‘no error’ as your answer.

Q22. (a) Store manager yield to the CEO and gave in to his demands even though he didn't agree with
them

(b) The ratification of the law only took place when a majority of the legislators agreed on the approval
(c) Consent was needed for the students to be allowed to go on the field trip

(d) The police gave an affirmative response when asked if they had caught the robbery suspect but
refused to release his name.

(e) No error

Q23. (a) Gardeners add compost to the soil in order to fertilize it before planting the flowers in the
ground.

(b) Teenagers go through a phase in their life where their rudely words seem to get them in trouble.

(c) Eating healthier foods, exercising regularly and losing weight can reverse diabetes for some people.
(d) Tom often writes to the editor of the local newspaper about issues of concern to his community.

(e) No error

Q24. (a) Each episode of that TV drama end with somebody delivering a profound line.

(b) Online programs have simplified filing taxes and made it a lot easier to submit the correct paperwork
(c) The judge signed a waiver that allowed the DA to abandon the case with no consequences

(d) Many people thing that extreme measures need to be taken to protect children from virus.

(e) No error

Q25. (a) A good management would listen with reasonable demands.

(b) Tia and her mother contributed to the mayor’s campaign by raising money for him

(c) The company is offering discounts on long-distance calls as an inducement to customers.
(d) The steep pavement was too narrow for them to walk abreast.

(e) No error

Directions (26-30): Which of the phrases (a), (b), (c), (d) given below each sentence should replace the
phrase printed in bold in the sentence to make it grammatically correct? If the sentence is correct as
required, mark ‘No correction required’ as the answer.

Q26.I'll recommend him as the chairman, whether you are in favour of it or not.
(a)  had recommend him as

(b) I have recommend him as

(c)  had recommend him by

(d) I'll recommended him as

(e) No replacement required
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Q27. The NGO appealed to the people to come forward to help the victims and said that each may
contribute what they can.

(a) each may contribute what he can

(b) each may contribute what either can

(c) each may contribute what each another can

(d) each may contribute what each other can

(e) No replacement required

Q28. The police is reluctant to pursue criminal charges in medical cases.
(a) is reluctant to pursued

(b) are reluctantly to pursue

(c) are reluctant to pursue

(d) are reluctant to be pursued

(e) No replacement required

Q29. There is no escape in the container for milk to flow.
(a) outlet

(b) inlet

(c) drainage

(d) rescue

(e) no replacement required

Q30. The way we work has underwent a radical transformation in the past decade.
(a) have undergone

(b) has undergone

(c) was undergone

(d) have undergo

(e) No replacement required

Q31. A train crosses a pole & a 200 meters long platform in 8 sec. and 16 sec. respectively. Another train
having length of 250 meters running at the speed of 20 meters/sec in same direction of the train, then
find time taken by both trains to cross each other?

U I, THF T T 200 HeT A TIahid &1 FHM: 8 The T 16 e H I¥ FAT g1 T 7T 2 forereht
AETS 250 HIe &, o il a7 {3 & 20 Hiew/@swhe it T § 9 L@l g, AT QAT oAl Al Tk G w18 HeT |
ST ATAT THT ST hifora?

(a) 45 sec / 45 TFe

(b) 84 sec / 84 TFHE

(c) 90 sec / 90 ¥Fe

(d) 54 sec / 54 TFHE

(e) 72 sec / 72 e
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Q32. The ratio of speed of boat in still water to speed of stream is 4 : 1 and boat takes total 18 hours to
cover 80 km downstream & 60 km upstream. Find time (in hours) taken by boat to cover 30 km
downstream?

ST ST § TS ol T T &TT o0l I & STATT 4:1 § TAT A7 HI &7 % g 80 T i ey & wfager
60 Tt T T T FT | FoT 18 =< T 3| T & gt 30 ToreT Y T a7 e & A1 gy forat 1o a9
(st ®) T Hfor?

(a) 4

(b) 2

(c)6
(d)3

(e) 5

Q33. Zth of present age of Ram is equal to § rd of present age of shyam. Four years ago, if sum of age of

Ram & Shyam was 60 years, then find the present age of Ram?

TIH T TAATT S FT 34, 9ATT &l AT 0 6 2/3 % a6 gl AL qY T8, AT TOH T 91T =l A HiT
TRT 60 W AT, T I il TAHTT S AT HIToT0?

(a) 32 years / 32 T

(b) 28 years / 28 a%

(c) 48 years / 48 a

(d) 36 years / 36 a9

(e) 54 years / 54 a9

Q34. If the ratio of length of a rectangle to its perimeter is 2 : 7, then find the ratio of breadth to length of
the rectangle?

T2 T I 6l FATS T IHeb TRHATT | ATATT 2:7 8, TT AT %0l AaTs H ATSTE 8 ST AT hl1o10?
(@)2:7
(b)4:3
(c)3:4
(d)2:3
(e)3:5

BILINGUAL
Q35. In a company 40% are females and out of total males 75% are
graduate. If total undergraduate males are 1350, then find the .
Special Offer

number of females in the company?

T FIAT H 40% ATgATU 8 3T o T2Ul § | 75% &ATqF gl TS T 03

| &0 1350 &, AT et § wiers 1w [ ffor? LIC ADO
() 3600

(b) 2400 MAINS

(c) 4000

(d) 4800 60+ TOTAL TESTS
() 3000
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Q36. A & B enter into a business by making investment of Rs. 2000 & Rs. 4000 respectively. After eight-
months A left the business & B withdrew half of his initial investment. If at the end of a year total profit
was Rs. 4900, then find the profit share (in Rs.) of B?

A ST B FHET: 2000 FTF 3T 4000 FIF T 9T F8eh U AGHTT § TAT FLA g1 S T+ 918 A 91T Fg
AT g ST B oo« ST fHarer &7 srer ZeaT [Merer «rar g1 afs & a9 & o §, Ter a1 4900 =9 T, 91 B
& T T FZE0T (F00 ®/) A1 Frfora?

(a) 1400

(b) 3500

(c) 2800

(d) 4000

(e) 2100

Q37. In a vessel the ratio of milk to water is 5 : 2. If 21 liter of mixture is taken out from the vessel and
one liter water is added, then the ratio of milk to water in the final mixture becomes 7 : 3. Find the initial
quantity (in liters) of milk in vessel?

U Jq9 § & ST I AT AqATT 52 2 81 T Faq | 21 SAfe oy [Hahar Srar g $i7 UF el 9l (Har
STAT @, aF SAfaw eI § g0 &7 9T | Sq9Tq 7 : 3 87 a7 gl gAqq H gY il I9E /AT (Sle H) A
Frforu?
(a) 20
(b) 40
(c) 50
(d) 35
(e) 60

Q38. Ratio of cost price to marked price of an article is 5 : 8 and shopkeeper gets a profit of Rs. 80 by
selling the article at Rs. 480. Find the marked price of the article?

U T % 7 ToF HT iehd JoF & TqITd 5: 8 § 3T AT &l a€q Fl 480 ¥4 H o= I 80 I FT ATH
THTaT 8| T FT SATohd o AT sl rord?

() 840Rs./840%

(b) 620 Rs. / 620 %

(c)640Rs./ 640 =

(d) 680 Rs. / 680 &

(e) 720 Rs./ 720 %

Q39. A and B can paint a floor alone in 18 days and 24 days respectively. If B started alone painting the
floor and after 3 days A also joined him, then in how many days the whole floor will be painted?

A T B 3Tehel U 9T 1 FALT 18 3T 24 {31 & U &7 & g1 T B 3Tehcl BT &l U2 FIAT % HLdT g A< 3
AT % a1 A AT I AT T | TR B SATAT €, A I F A T o= 7 ge Gt smoam?

(a) 6 days / 6 fa=

(b) 12 days / 12 &=

(c)8days /8 =

(d) 10 days / 10 &=

(e) 15 days / 15 fa=
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Q40. A person invests his money in two schemes, A and B. He invested Rs. (X+20000) in scheme A at 10%
p.a. on simple interest for three years and Rs X in scheme B at 15% p.a. on simple interest for three years.
If after three years he got total Rs. 36000 as interests, then find value of X.

T AT<h ° AT 190 7 &7 TrorAren A T B § [Haer fFram sa= i 99 F foro |ramor samt 9% 10% 9fa a9
T AT A § ST 9 a9 o forw 159% Ii 3 "1emor sarst 9% (X + 20000) F93 #7 fFaer fam afw & aw
T8 3H TS & ®T H FF 36000 & TTH 21 g, AT X FHT T 7T 90| (F )

(a) 25000

(b) 35000

(c) 50000

(d) 45000

(e) 40000

Direction (41-45): Line graph given below shows number of students (Male + Female) in two different
collages in three different years. Read the data carefully and answer the questions.

== & 797 @ AT A STAT-37T aU1 | T STET-3TRT hielst § Sl (T2 + FAlgdT) il T&AT il I207dT g
ST T AT § (2T ST T o I aiford |

" Zax
160 A
150 —

. = S
120 / N\

AN
110
100 \

2016 2018 2020

—=—Collage X (Male + Female) —=—Collage Y (Male + Female)

Q41. If average number of students in collage X in years 2016, 2018 & 2019 is 150, then find the total
number of students in collage X in years 2019?

T a9 2016, 2018 3T 2019 F FHierst X H FTAT a0l oirdq &A1 150 7, T a9 2019 F FHferst X | AT AT FoT
AT AT hIforw?

(a) 180

(b) 200

(c) 150

(d) 100

(e) 120
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Q42. If total number of males in collage Y in year 2016 & 2018 are equal, then find total number of
females in collage Y in these two years?

7 a9 2016 =¥ 2018  FHicsr Y | [&UT il T H&AT a9 &, AT 39 &l q6T | Hiers Y § Algarsqi ol
TEAT ST for?

(a) 210

(b) 150

(c) 180

(d) Can’t determined / et w&t foFaT ST FhaT

(e) 170

Q43. If the ratio of total number of males to females in collage Y in year 2020 is 4 : 3, then find total
number of males in in collage Y in year 2020 are what percent less than total number of students in
collage X in same year?

ITE FF 2020 F FHiersr Y § TEUT ol HeT HEAT HT AigATl ol Tl H&IT & FqATT 4:3 &, Tl AT sl o a9 2020
H iersT Y § TEUT ol et ST, §9T a9 § Ficist X § A1 6 Fie 9T F fohae Sfaerd F:7 g2

(a) 20%

(b) 40%

(c) 10%

(d) 5%

(e) 25%

Q44. Find average number of students in collage Y in all the given three years?
o 7o Ty 19 ot § wiers Y | S AT ST 6T ST hifere?

(a) 140

(b) 180

(c) 160

(d) 150

(e) 120

Q45. If 60% of total students in collage Y in 2016 are male & 40% of total students in collage X in 2018
are female, then find the ratio of total females in collage Y in 2016 to total males students in collage X in
20187

7% 2016 H FAsT Y § T FTT H F 60% T2 & 3T 2018 H Fiersl X H T AT | F 40% AiZATU &, a0
2016 § ST Y | T AigaATtsli &7 2018 H Fferst X § T [T STAT F AT AT il or2?

(@)5:9

(b)5:8

(c)5:7

(d)5:11

(e)9:5
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Direction (46 - 50): What will come in the place of question (?) mark.
o7 T2 (?) % A9 9 AT AT

Q46.140, 153, 167, 183, 202, ?
(a) 226
(b) 221
(c) 223
(d) 225
(e) 227

Q47.250, 250, 200, 120, 48, ?
(2)10.8

(b) 7.2

(c)8.4

(d)9.2

(e) 9.6

Q48.6, 7, 13, 40, 159, ?
(a) 780
(b) 786
(c) 796
(d) 784
(e) 806

Q49.23, ?, 16, 23, 9, 16

(a) 30

(b) 28

(c) 32

Ed)) :16 BILINGUAL

e

Q50.7, 16, 141, 190, ?, 1040 IRDAI 2023
(a) 939 Assistant Manager
(b) 899 PHASE-I

() 929

(d) 919

() 909 50+ TOTAL TESTS
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Q51. Find the average of five consecutive even numbers, if difference of second largest and the smallest
number is 67

T FHITT O ST 7 i 1 hriorg, 7fs gadt gas a27 3T Fa& v ST 7 a7 6 82

(a) 16

(b) 14

(c)12

(d) 20

(e) can’t be determined / fFerTfa AT o ST ThaT

Direction (52-65): What will come in the place of question (?) mark in following questions.

eferfea vt & wor (e (7) % 2T 92 997 Aru?

Q52.12x7? +102=16%2-10x%x 6
(a)8

(b) 6

(c)12

(d)5

(e) 4

Q53.120% of 80 + 60% of 300 = 72 + /400
(a) 14
(b) 16
(c)12
(d) 18
(e) 15

Q54.264 =24 +190 + 5 =7+ 5
(a) 235
(b) 305
(c) 255
(d) 245
(e) 205

7?7 36X%X5

Q55. 27%60  ?
(a) 520
(b) 540
(c) 620
(d) 420
(e) 440

Q56.48 +8 x0.75-5=?
(a) 22
(b) 36
(c) 49
(d) 56
(e) 46
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Q57. 2950 +12.5 + 160 =?

(a) 392
(b) 390
(c) 396
(d) 394
(e) 400

Q58.v/v225 + 3 +v576 + 6 =?

()3
(b) 6
(@9
(d)5
(e) 12

059.(12)3 x (6)* + 432 =7

(a) 5184
(b) 5060
(c) 5148
(d) 5084
(e) 5224

Q60.45 +20 % of ?=460 + 4

(a) 250
(b) 450
(c) 400
(d) 350
(e) 360

Q61.7+432-206 =550

(a) 384
(b) 244
(c) 224
(d) 276
(e) 324

Q62. (380 + 430 — 240) ~ 6 =?Xx 5

(a) 17
(b) 19
(c) 16
(d) 21
(e) 15

2 1 3
Q63.45+ 75—62—?—

()3
(b) 6
(c)9
(d)7
(e)5

19
12

14
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Q64.76% of 75 + 45% of 560 =? +59
(a) 250
(b) 306
(c) 280
(d) 272
(e) 236

Q65.v256 +V784 =7 x+/121
(a) 4
(b) 5
(@3
(d)6
(e) 2

Direction (66-69): Read the given information carefully and answer the questions below:

& TS AR &l SATIE S T2 T {19 [&0 T 4T % I &

Seven persons P, Q, R, S, T, U and V sits in a row and face to the north direction but not necessarily in the
same order.

Two persons sit between R and V. S sits second to the right of V. Two persons sit between Q and S. Not
more than one person sits between R and Q. One person sits between P and T who sits second to the left
of V.

AT AE P,Q, R, S, T, U 3T V UF Ufth | & g 3T I (90T il AT I7HT & AT STl Agl 1o S6T /7 § i
R #l¥ V& = <7 =3f<h 98 81°S, V3 a18 & gAY ©I19 9 937 g1 Q 3f% S & 1= a7 =4f=<F 3 gl R Q F i+
U & T8 AT<E Aal 96 gl P 3T T STV a4 & THL T 9L 937 &, 6 a9 Teh A<h o907 gl

Q66. Who among the following sits immediate right of U?

A% & #19 U F 21 a1 da71 22

(a)P

(b)S

(AR

@T
(e) None of these / T8 & &5 :r«fr BILINGUAL e
Q67. How many persons sit between R and S?

R &Y S % &= T =af<h 9 22 RBI 2023

(a) Three / &9 Assistant

Eb)) (T)WO//Q?i Prelims + Mains

c) One

(d) Four / =X

(e) None ofthese/é_v-lﬁﬁﬁﬁ‘é'ﬂﬁ 190"’ TOTAL TESTS
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Q68. Who among the following sits third to the right of R?
9% & ¥ A9 R % 0 | T1EL T4 92 937 82

@V

(b) T

(U

(d)S

(e) None of these / T#H | &I Aal

Q69.If T and V interchange their position, then who sits immediate left of T?
T T ST V (94T T ATIE § TGAd 6, A1 T o 316 a4 i a7 872

(@R

(b)U

(c)S

(Vv

(e) None of these / Z7H o #Is gl

Q70. In the given word “ENCYCLOPEDIA” if we removed all the vowels and replace all the consonants

with just next letter then find how many vowels are there in the new arrangement?

3 17 ers7 “ENCYCLOPEDIA” ® 7f3 29 T Ta &l g2l & 3T T ATl &l [T 997 F ga & af s7d
FrforT o 75 e § fohay wa¥ 82

(a) Three / &

(b) More than four / 9T & Tfer®

(c) One / U=

(d) None / #s &l

(e) Two / &T

Q71. In the number ‘837592475’, how many pairs of the digits have the same number between them

(both forward and backward direction) in the number series?

AT '837592475' H, HEAT F@AT § i & UH fohad 90 & oA a9 (AN ST 91 a1 Qe ) a8
HqEAT 22

(a) Four / =TX

(b) Two / &7

(c) One / U=

(d) Three / &=

(e) More than four / T & [fa
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Directions (72-76): Study the following number series carefully and answer the questions.

fRrerferfera s e T eama s T3 F7 3 T1 % I 4|
628 935 275 562 471

Q72. If all the digits are arranged in descending order within the number, then which of the following will
be the lowest number thus formed?

T T 3T 7 TeAT % AT Tael #F § AGed a1 Sar 8, a7 S8 Th1L a9 aTel qad el gedT A o
7 = SR

(a)471

(b) 562

(c) 275

(d) 628

(e) None of these / 7 ¥ &g Aal

Q73. If first digit of 2n highest number is divided by the second digit of the highest number, then which
of the following will be the result?

T TN HaH TS G o gl 37 [ qad d§ HEAT o g6 3o & AT Rt SITaT &, af 9 & & &= |7
T gETT?

(@) 6

(b) 4

(c)8

(d) 2

(e) None of these / 7 ¥ &S Aal

Q74. If in each number first and third digits are interchanged then how many odd numbers formed in the
new arrangement?

TS T HCAT § Tl 31T ATEL 3l SMTH | I (<37 SITAT g, Al 795 AFeT | Fhae fous §eamv 67
(a) One/ TH

(b) Two / &T

(c) Three /9

(d) Four /=TT

(e) None of these / T & FilE Aal

Q75. If all the digits are arranged in ascending order within the number, then which of the following will
be the highest number thus formed?

T T 3T T GEAT % AT AT FF | Faeqd haT S1ar g, a1 e & i o 36 T a7 a1t ged
T AT gL

(a) 628

(b) 935

(c) 562

(d) 275

(e) None ofthese/é‘«-l’ff@f'cﬁ"g'ﬂ'ﬁ
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Q76. If all the numbers are arranged in ascending order from left to right, then which number will be
come in the middle of the series?

T Tt FATel AT AT /7 H § AT 0 AR AT SATAT B, AT HIA-H1 HEAT HGAT o6 T § SATTIAT?
(a) 628

(b) 935

(c) 562

(d) 275

(e) None of these / T & FIs Al

Directions (77-79): Study the following information carefully and answer the questions given below-

AT ST T AT YE S SAeqT Sitord 3T A= &7 TT T 6 3L alford-

There are seven members in a family of three generations. There are two married couples in a family. A
has two children and only one child is married. H is the mother of D. G is the niece of B. F is the only son of
C. B is the sister-in-law of H. D is the daughter of F. C is not a male member of the family.

T JT=AT % U TET | |79 9867 TEd 8| Ta | & foared I 5| A F 21 a9 8 S had UE agl (aaried
gl H, D& 71 81 G, B & & g1 F, C FT a1 T g1 B, H T "Eex = AT g1 D, F it T g1 C, TRAT &7 =9
aae] el gl

Q77. How is A related to G?
A, G ¥ T3 TohT Hatera g2
(a) Father / foaT

(b) Uncle / 3rsheT

(c) Grandfather / THTET
(d) Aunt / e

(e) None of these / TH & s A5l

Q78. How many females are in the family?
TR # oAt afg«rd g7

(a) Two / =T
(b) Four / =ATX
© Three /A
(d) Five /= BILINGUAL
(e) None of these / T8 & &5 H@
79. Who among the following is the wife of F?
%Hﬁ@rﬁlﬁ'rrF‘cﬁngﬁ%? 8 EPFO 2023
(@) B Social Security Assistant
(b)H PHASE-I
(@G
(d) Either Bor G / a1 aT BT G
(e) None of these / E—ﬁ- ﬁ- ‘_‘ﬁ_‘g- H@- 100+TOTAL TESTS
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Directions (80-84): Study the following information carefully and answer the questions given below-

Aot SRR F7 e @® STeqae fiford oY A= {0 0 To77 F I <o

Eight persons P, Q, R, S, T, U, V and W attend a function one after other but not necessarily in the same
order. Three persons attend function between V and T who attend function after V. More than one person
attend function after T. Q attend function just after R and both are not attended function just before/after
T. No one attend function before P. S attend function just before U.

s =R P,Q, R, S, T, U, V 3l W U % a1 Uk U THTE H AN I & ATk ST=<l Agl 1oh 24T 7 H 2l V
AT STV F 97 THTAE | AR a7 ¢, % S d 14 oF{<h THIE § 7 ofd 81 T % 978 Uk & AT =qi<h
THTIE § AT o g1 Q, R % 31 T8 § AHTUE 91T 2rar g <=1 T F 315 9gl/ aTa | THTUE § AN Al odr
gl &1 Y =3k P& g5 qHTg § 9N Al AT g1 S, U F SV Ugel THTE W A T gl

Q80. How many persons attend function after R?
R % a1 T =AT<h 9IS § AN @d 82

(a) Four / AT

(b) Three / =

(c) More than five / 97 & 3Tfa=

(d) Five / o=

(e) Two / &1

Q81. The number of persons attend function between W and S is same as the number of persons attend
function between P and ___?

W 3T S & &t H9TIg § W o a1l ARl =l §&AT, P 3T o 1= S0 § 9T o qTef ARAT hl
TEAT % 9HIT 87

(@s

(b)R

(aV

(d)U

(e) None of these / Z7® H #IE gl

Q82. How many persons attend function between Q and U?
Q 3T U & &= foha= =aT<F THTUE § 9 oI &7

(a) Three / i

(b) Five / 914

(c) One / U=

(d) Two / &T

(e) None of these / Z7H H &2 AG!

Q83. If R interchanged his position with T, then how many persons attend function before R?
T2 R, T & AT SATAT T F&dT &, T R Tl Tohae =ik G818 § 90T o112

(a) One / U=

(b) Five / 914

(c) Two / &T

(d) Four / =X

(e) None of these / T7H & FIS Tal
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Q84. Four of the following five pairs are alike in a certain way and so form a group. Find the one which
does not belong to that group?

Frerferfer s et & & = sk S 0% & v g6 € 6 Taieng U g a9 8| 98 S e S
SH g | Gafed a8 82

(a) P-R

(b) Q-T

(c) W-S

(d)R-S

(e)V-Q

Q85. If we form a meaningful word by the second, fourth, fifth and seventh letter of the word
‘INTERNATIONAL”, then which of the following will be the first letter of the meaningful word thus
formed? If more than one meaningful word is formed mark Y as your answer. If no meaningful word is
formed, mark X as your answer.

T g7 915 'INTERNATIONAL' 3 &, A1, Ii=d 3{I¥ ATq9 a7 & U Y07 963 IATd 6, a1 =7 T O
AT 9167 T TZAT AU (F6 H | I T g2 TTE U F STTEH TN 9063 a4 g AT Y I AIAT 3L &l
T IS AT 968 Al a9dT g, AT X Fl ST I o6 T H [=fedAd i

(@)X

(b) N

(Y

(d)A

(e)R

Directions (86-90): Study the following arrangement carefully and answer the questions given below:

R TOT T STaeT T SATAIE T AT Fi< ST A1+ QU T T o6 IAL <l 1o7 4

CIET%J40B@UBON#WF1V7*2AH3Y5%$6K

Q86. Which of the following is the third to the right of the tenth from the right end of the above series?
Freferfera § & FI9-97 ST ST § 378 BT T 399 6 ard F 90 82

(@1

(b) H

QY

(d) N

(e) None of these/zaH & #TE AG!

Q87. How many elements are between Y and @?
Y 3T @ % &= fora aca 82

(a) Twelve/ 9TXg

(b) Thirteen / a%g

(c) Ten/&H

(d) Fifteen/ 958

(e) None of these/ TAH T FS vT@
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Q88. How many such vowels are there in the above arrangement, each of which is immediately preceded
by a number and immediately followed by a consonant?

UL HAEAT § U fohaqe T €, o8 & T o S U8l U 96T 3T 31 97a Uah A 8?2
(a) None /&1 g1

(b) One/ T=

(c) Three /=

(d) Two /=T

(e) Four/ =TT

Q89. If symbols have been removed from the given series, then how many elements are there in the new
series?

7f% < T @er & Tl A1 gar 2w ST, av A e # e o 82

(a) Sixteen/ HIeTg

(b) Twenty/ &

(c) Nineteen/ =9

(d) Twenty-four/ STeTe

(e) None of these/ T ¥ &g Aal

Q90. How many such numbers are there in the above arrangement, each of which is immediately
followed by a symbol and immediately preceded by a consonant?

S €T H UHT fohaeit G0 g, fSF W & Yo & 316 91& Uah Tl S 51 Tgol U o5oi 872

(a) One/ T

(b) Three/d=

(c) Two/aT

(d) Four /=TT

(e) None of these/ T7H & &< gl

Directions (91-93): Study the following information carefully and answer the questions given below-

Point A is in 27m east of point B. Point E is in 18m south of point B. Point A is in 36m north of point H.
Point G is in 30m east of point C. Point D is in 54m south of point G. Point H is in 27m west of point D.

et ST F7 e @® STeqa= hiford oY A= Q0 T0 T7 F I a1 o7

g A g BF 27dT @ # 81 F E, g B+ 18dtafermr # g1 g A, g HF 36" T3 # 81 fHg G, g ¢
309t 74 # 21 g D, {93 G 5471 aferor 7 g1 fog H, 95 D& 27H1 af2w 4 g

Q91. In which direction is point C with respect to point H?
Rz H 3 w2 7 fig C fory fRom & 27

(a) North-west / 3TT-IT3H

(b) South-east / Ffaror-g5

(c) North / 3<X

(d) North-east / 3T%-94

(e) South / zferor
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Q92. If point M is in 18m south of point G then, find the shortest distance between point A and point M?
Tz fig M, 63 G+ 184 aferor 7 &, a7 &g A sfiw foig M & = &t =7a9 & 1 Hiforg?

(a) 36m / 36 |t

(b) 27m / 27 |t

(c) 18m / 18 #t

(d) 54m / 54 =

(e) None of these / TH | &I Aal

Q93. Four of the following five are alike in a certain way and so form a group. Find the one which does
not belong to that group?

eforied o= § & 912 UE AT ade § G619 8 3T SHoT Uh 948 a49Td gl AT i1 hid 97 UF 39
qE ¥ Ha 18T A5l 57

(a) G-D

(b) H-E

(c)D-B

(d) A-C

(e) H-B

Directions (94-98): Study the following information carefully and answer the questions given below.

AT ST T &A@ AEqTT hlTord 3T A= [&T TT 7T o I o

Eight persons P, Q, R, S, T, U, V and W sits around a circular table and faces the centre but not necessarily
in the same order.

V sits second to the right of W who sits opposite to Q. T sits adjacent to V. P sits opposite to T and sits
second to the right of R. Two persons sit between U and S who sits immediate right of W.

oS Ah P,Q, R, S, T, U, V 3T W T TR TS o AT AT 96 § TAT g =l AT I+H@ g oATohd ST&LT Aal 1
TH FH 2

V, W ST Q 3 faradia 9371 8, 3 a18 & g8 T 9 937 g1 T, V & 38« 937 81 P, T % o< 9271 8 3T R % 313
T ZEL T 9T T57 81 U ST S ST W o 3t a13 927 8, o 19 &t o4i<h 95 2|

Q94. Who among the following sits second to the left of R?
Mo & & % R & o973 § A< A1 9 997 57

@T

() Q

()P

(dV

(e) None of these / T8 & &5 H@

Q95. How many persons sit between U and V?
U ST V & &= o =1i=e 95 87

(a) One/ T=®

(b) Four /=X

(c) Three / 9

(d) Two / &T

(e) None of these / TAH A FS vT@
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Q96. How many persons sit between W and R, if counted from the left of R?

TfE R % ad & [{A7 17 8, 97 W SiiT R % 1= e =1f~e 95 87
(a) One / U=

(b) Two / &T

(c) Five / 9=

(d) Three / Et=

(e) None of these / TAH & FIs AG!

Q97. Who among the following sits 274 to the left of the one who sits immediate right of R?
Reforfed & & 9 R % 3% a1 98 A1<h & a3 & T €19 92 997 872

(a)P

(b) Vv

(U

(d)Q

(e) None of these / T/ o &IT A5l

Q98. Who sits fourth to the left of P?
P % 973 § AT TITH 93T g2

(@Uu

(b) S

(AT

(dR

(e) None of these / TAH T FE H@

Direction (99-100): In these questions, relationship between different elements is show in the
statements. The statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate answer:

T TN H, FAAT § AT qeai o S g IAqTIT TAT g1 FAFT % o97% Hohy [QU T0 g1 QU TT FA47 5 e
o< TRt 7 3Teqa Y ST 3= I AT 9T Fes

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.

(a) 7fT Fae Ao [ SATETT F2aT B BILINGUAL
(b) =& Ferer e 11 STgHT 2T 2

(c) T2 I7 a7 e 1 A7 11 STE20T 2T &

(d) 7fs T a7 Ao [ =T T & 1 SIgEor F3am gl

(e) Tfe A=t [ 3% 11 ST ST FXA 2 BANK

Q99. Statements/FAT: G<U<R=T<W<Q=S=F PRIME
Conclusions/AsFs: L. R < Q ILF>T m

Q100. Statements/FIT:0>T=Y>R=D>S>U RBI, LIC, IBPS RRB, SBI, IBPS PO | Clerk & Others

Conclusions/Asd: L R> U I.D=U 1200+ TOTAL TESTS
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